Best model for HELP J113809.040+001753.896 at z = 1.206 x?=0.55
OPTx?=0.69 IRx?=0.35 threshold (OPT IR)=17.65 [um]

102 ] . Stellar attenuated
3 = Stellar unattenuated

—— Dust emission
—— AGN emission

101 3 = Model spectrum
q ® Model fluxes
1 M oObserved fluxes
100
> E
=
c ]
= 10~1 3 i 'ﬂ,..,-"/’“\ﬁ\
X E f -~
S ] "-‘;‘"T‘v"'"'sn o .
T o
1072 -

Q
IN

=

=f= (Obs-Mod)/Obs

I
=

Relative residual flyx

o

i

1

1

1

1

1

1

1

1

1 /
1
1

1

1

1

1

1 [
L

10° 10! 102 103 10% 10 A
Observed wavelength [um]



